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1 Which of the following statements is true about Satyagraha?

A. Satyagraha is not a physical force.

B. Satyagraha is the ‘dharma’ of violence that could unite all Indians.
C. A satyagrahi does not inflict pain on the adversary

D. Option Aand C

2 Which one of the following agreements gave reserved seats to the ‘depressed classes’ in the
Provincial and Central Legislative Councils?

A. Lucknow Pact

B. Gandhi-Irwin Pact

C. Poona Pact

D. Lahore Pact

3 Choose the appropriate Chronological order for the events given below:
(i) Chauri Chaura incident

(ii) Second Round Table Conference

(iii) Cotton mill workers strike

(iv) Champaran Movement

Options:

A. (iii) — (i) = (iv) = (i)

B. (i) — (ii) — (iv) — (iii)

C. (ii) = (iii) = (i) — (iv)

D. (iv) = (iii) = (i) — (ii)

4 Identify the appropriate reason from the following options for the nonparticipation of
Industrial workers in the Civil Disobedience Movement.

A. Industrialists were close to the Congress

B. British offered them good salaries

C. They were reluctant to boycott foreign goods

D. Growth of socialism.

5 The Plantation workers were not permitted to leave the tea gardens without permission as per
the .

A. Inland Emigration Act of 1869

B. Inland Emigration Act of 1866

C. Inland Emigration Act of 1879

D. Inland Emigration Act of 1859

6 The resolution of Purna Swaraj was adopted at which session of the Congress?
A. Bombay

B. Lahore

C. Karachi

D. Madras
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Who formed the ‘Swaraj Party’ within the Congress?
A. Jawahar Lal Nehru and Motilal Nehru

B. Abdul Ghaffar Khan and Mahatma Gandhi

C. Jawahar Lal Nehru and Subhas Chandra Bose

D. C.R. Das and Motilal Nehru

Which one of the following statements is true about the Rowlatt Act?

A. It did not give the government powers to repress political activities.

B. It did not allow the detention of political prisoners without trial for two years.

C. It allowed the detention of political prisoners without trial for two years.

D. Gandhiji decided to launch a nationwide Satyagraha against the Rowlatt Act in 1921.

Which one of the following provinces did not boycott the Council election?
A. Madras

B. Hyderabad

C. Bihar

D. Lucknow
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In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option:

Assertion (A): Boycott is the refusal to deal and associate with people, or participate in activities,
or buy and use things; usually a form of protest.

Reason(R): In the Gudem Hills of Andhra Pradesh, a militant guerrilla movement spread under the
leadership of Baba Ramchandra.

Options:

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A.

C. Aiis true but R is false.

D. Aiis false but R is true.
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Which of the following events is related to the image of Gandhiji given in the picture?
A. Non-Cooperation Movement

B. Kheda Satyagraha

C. Dandi March

D. None of the above
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What is the significance of the above mentloned |mage7
A. The import of Indian cloth

B. Chauri-Chaura incident

C. The boycott of foreign cloth

D. Forced recruitment to the British army
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